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DEA-5TT2 exam candidates will surely passthe Exam if they consider the DEA-5TT2 dumpslearning material presented by
ActualtestsAsure. Q37. Which Layer 1 device can be used to enlarge the area covered by asingle LAN segment?

* Router

* Repester

* Switch

* NIC

Q38. Which option is used to configure Network Address Translation (NAT) to provide one-to-one mapping between local and
global addresses?

* Qutside source static

* Overload

* |nside source static

* PAT

Q39. A network administrator is troubleshooting an OSPF routing issue. There are two paths to a destination network from one

switch. In addition, one path is comprised of four 1 Gb links. The other path is comprised of two 1 Gb and two 100 Mb links. The
administrator ran several trace routes and notices that the packets are swapping back and forth between the two paths.
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Which corrective action must be taken on the switch infrastructure to correct thisissue?

* Manually specify the OSPF Router ID on each switch within the path.

* Break the paths into multiple OSPF areas.

* Change the reference speed used by OSPF in cost calculations on all switches within the path.
* Switch all routing protocols to RIPv2.

Q40. On which OSl layers do standard ACL filters operate?
* 2and 3
* 2and7
* 3and 4
* 4and 7

Q41. Which route type is added to the routing table by arouting protocol ?
* Directly connected

* Static

* Default route

* Dynamic

Q42. How many total addresses for network, broadcast, and host are provided with the subnet mask

255.255.255.240?
* 8
* 16
* 24
* 48

Q43. What accurately describes |Pv6 addressing?

* |Pv6 addresses are denoted by eight groups of four hexadecimal numbers.

* |Pv6 uses 128 hexadecimal numbers instead of the 32 hexadecimal numbers used by |Pv4.
* |Pv6 is used to converse | P addresses and utilize private addresses.

* | Pv6 uses broadcast addresses for neighbor discovery.

Q44. What isthe default route preference value for a Border Gateway Protocol (BGP) internal route?
* 40

* 110

* 200

* 253

Q45. Which platforms are supported by the Dell EMC Networking OS (DNOS) 67
* N1500 Series switch and N2000 Series switch
* N1700 Series switch and N1500 Series switch
* N1700 Series switch and N3500 Series switch
* N3500 Series switch and N2000 Series switch

Q46. What is the correct sequence of steps that occur in the communications between the client and server to obtain an I P address
from a DHCP server?
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Q47. Which Border Gateway Protocol (BGP) version supports | Pv6?
* BGPng
* BGPv2
* BGPv3
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* BGPv4

Q48. Which port type should be used for only VLAN-unaware devices?
* Access port

* General port

* Hybrid port

* Trunk port

Q49. Refer to the exhibit.

Switch A

Gi1/0/ "T AR
00-

Switch A and Switch B are connected to each other. Both switches use interfaces Gi1/0/1 and Gi1/0/2. Switch A has a Spanning
Tree priority of 8192 and Switch B has the default priority. Which interface becomes the root port?

* Switch A Gi1/0/1

* Switch A Gi1/0/2

* Switch B Gi1/0/1

* Switch B Gil/0/2

Q50. Which Dell EMC Networking M-Series 10 GbE switch model supportsaVLT?
* MXL

* M6220

* M6348

* M8024-K

Q51. What isthe default OSPF & #8220;hello interval & #8221;7?
* 5 seconds

* 10 seconds

* 15 seconds

* 30 seconds

Q52. Which flags are used in the TCP header to initiate and end TCP connections or sessions?
* Initiate = Acknowledge (ACK) End = Synchronize (SYN)
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* Initiate = Acknowledge (ACK) End = Finish (FIN)
* Initiate = Synchronize (SYN) End = Finish (FIN)
* Initiate = Finish (FIN) End = Synchronize (SYN)

Q53. Which type of domains are connected by a Layer 2 switch?
* Single collision domain and a single broadcast domain

* Multiple broadcast domains and multiple collision domains

* Multiple collision domains and a single broadcast domain

* Single collision domain and multiple broadcast domains

Q54. At which layer of the OSI model is the Rapid Spanning Tree protocol used to prevent switching loops?
* Physical

* Network

* DataLink

* Transport

Q55. What isthe aggregated lanes& #8217; maximum speed rating for a QSFP28 transceiver?
* 4 Gbps

* 40 Gbps

* 112 Gbps

* 128 Gbps

Q56. On Switch A, a static route has been redistributed into OSPF. Which type of OSPF router will this process make Switch A?
* Autonomous System Boundary Router (ASBR)

* Designated router (DR)

* AreaBorder Router (ABR)

* Backbone Router (BR)

Q57. Which field of the 802.3 frame is used by network interface cards to synchronize their receivers?
* Start frame delimiter

* Preamble

* Cyclic redundancy check

* Frame check seguence
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